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Chapter 1
The Government and Not-For-Profit Environment

Questions for Review and Discussion

1.
The critical distinction between for-profit businesses and not-for-profit entities, including governments, is that businesses have profit as their main motive whereas the others have service. A primary purpose of financial reporting is to report on an entity’s accomplishments — how well it achieved its objectives. Accordingly, the financial statements of businesses measure profitability — their key objective. Financial reports of governments and other not-for-profit entities should not focus on profitability, since it is not a relevant objective. Ideally, therefore, they should focus on other performance objectives, such as how well the organizations met their service goals. In reality, however, the goal of reporting on how well they have achieved such goals has proven difficult to attain and the financial reports have focused mainly on finance-related data.

2.
Governments and not-for-profits are “governed” by the budget, whereas businesses are governed by the marketplace. The budget is the key political and fiscal document of governments and not-for-profits. It determines how an entity obtains its resources and how it allocates them. It encapsulates most key decisions of consequence made by the organization. In a government the budget is not merely a managerial document; it is the law.

3.
Owing to the significance of the budget, constituents want assurance that the entity achieves its revenue estimates and complies with its spending mandates. They expect the financial statements to report on how the budget was administered.

4.
Interperiod equity is the concept that taxpayers of today should pay for the services that they receive and should not shift the payment burden to taxpayers of the future. Financial reporting must indicate the extent to which interperiod equity has been achieved. Therefore, it must determine and report upon the economic costs of the services performed (not merely the cash costs) and of the taxpayers’ contribution toward covering those costs.

5.
The matching concept may be less relevant for governments and not-for-profits than for businesses because there may be no connection between revenues generated and the quantity, quality, or cost of services performed. An increase in the demand for, or cost of, services provided by a homeless shelter would not necessarily result in an increase in the amount of donations that it receives. Of course, governments and not-for-profits are concerned with measuring interperiod equity and for that purpose the matching concept may be very relevant.

6.
Governments must maintain an accounting system that assures that restricted resources are not inadvertently expended for inappropriate purposes. Moreover, statement users may need separate information on the restricted resources by category of restriction and the unrestricted resources. In practice, these requirements have led governments to adopt a system of fund accounting and reporting.

7.
Even governments within the same category may engage in different types of activities. For example, some cities operate a school system whereas others do not. Governments that are not within the same category may have relatively little in common. For example, a government that operates an airport shares few characteristics with one that controls a school system.

8.
If a government has the power to tax, then it has command over, and access to, resources. Therefore, its fiscal well-being cannot be assessed merely by measuring the assets that it “owns.” It can be evaluated only by also taking into account all of its available resources. For example, the fiscal condition of a city cannot be determined by looking only at its own balance sheet. It is necessary to consider the wealth of the residents and businesses within the city, their earning capacity, and their willingness to tax that wealth and earning capacity.

9.
Many governments budget on a cash or near-cash basis. However, the cash basis of accounting does not provide adequate information with which to assess interperiod equity. Financial statements that satisfy the objective of reporting on interperiod equity may not satisfy that of reporting on budgetary compliance. Moreover, statements that report on either interperiod equity or budgetary compliance are unlikely to provide sufficient information with which to assess service efforts and accomplishments.

10.
Measures of service efforts and accomplishments are more significant in governments and not-for-profits because their objectives are to provide service. By contrast, the objective of businesses is to earn a profit. Therefore, businesses can report on their accomplishments by reporting on their profitability. Governments and not-for-profits must report on other measures of accomplishment.

11.
The FASB influences generally accepted accounting principles of governments in two key ways. First, FASB pronouncements are included in the GASB hierarchy of GAAP. Those that the GASB has specifically made applicable to governments are included in the highest category; those that the GASB has not specifically adopted are included in the lowest category. Second, the GASB requires business-type activities of governments to apply all FASB standards issued before the 1989 FASB–GASB jurisdiction agreement that do not conflict with GASB standards and permits them to adopt all (or none) of the non-conflicting FASB standards issued since 1989.
12.
It is more difficult to distinguish between internal and external users in governments than in businesses because constituents, such as taxpayers, may play significant roles in establishing policies that are often considered within the realm of managers. Also, legislators are internal to the extent they set policy, but external insofar as the executive branch must account to the legislative branch.

Exercises and Problems
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1.
The authority’s cash requirements in Year 1 would be as follows (in millions):

Wages, salaries and other operating costs
$6.0

Interest on bonds
 0.5

Purchase of equipment
  0.9
      Total cash outlays (revenue requirements)
$7.4
2.
In Year 2, they would be:

Wages, salaries and other operating costs
$6.0

Interest on bonds
  0.5
      Total cash outlays (revenue requirements)
$6.5
3.
In Year 10, they would be:

Wages, salaries and other operating costs
$  6.0

Interest on bonds
  0.5

Repayment of bonds  
  10.0
      Total cash outlays (revenue requirements)
$16.5
4.
The budgeting and taxing policies fail to promote interperiod equity. The economic costs incurred by the authority — the wages, salaries, other operating costs, and portion of equipment consumed — were the same each year. Yet, tax payments will depend on when the equipment was purchased and when the debt was repaid. Taxpayers of Year 10 will have to pay for equipment that provided services to the taxpayers of the previous nine years.


Interperiod equity could be achieved by budgeting on an accrual rather than a cash basis. The budget would then include an annual charge of $1.3 million for depreciation — $1 million on the ten-year equipment, plus $0.3 million on the three-year equipment. Annual required revenues would be $7.8 million:

Wages, salaries and other operating costs
$6.0

Interest on bonds
 0.5

Depreciation on equipment
  1.3
      Total revenue requirements
$7.8

This practice might, however, be objectionable to some taxpayers because it requires that they contribute cash to the authority in years prior to those in which it will actually be expended. Thus, for example, at the end of Year 1 the authority will have a cash “reserve” of $0.4 million — the difference between the $7.8 million in taxes collected and the $7.4 million in cash outlays. The authority could also achieve interperiod equity by issuing serial bonds (those in which a portion of the principal matures each year over the life of the issue) or by establishing and contributing to a debt service “sinking fund.” By taking either of these approaches, the authority would, in effect, be repaying the bonds over the period in which the equipment is used and thereby matching equipment costs with equipment benefits.
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The objective of budgetary compliance can best be served by reporting each transaction on the same basis as it is budgeted — in this case, on a modified cash basis. The objective of interperiod equity can best be achieved by identifying the economic substance of each transaction and reporting it when it has its substantive economic impact — that is, on an accrual basis.

1.
Budgetary compliance: No expenditure reported in 2012. Report the $128,000 in wages and salaries as an expenditure entirely when paid in 2013.


Interperiod equity: Report the amounts when earned, entirely in 2012.

2.
Budgetary compliance: Report the pension contribution when the $170,000 payment was made in 2012.


Interperiod equity: Report the actuarially required pension contribution of $225,000 in 2012, the year the employees earned the benefits, irrespective of the city’s actual cash contribution.

3.
Budgetary compliance: Report the vehicle expenditure when the cars were paid for: $105,000 in 2012.


Interperiod equity: Report the cost of these vehicles over the three-year period in which they will be used: $35,000 per year.

4.
Budgetary compliance: Report the $1,000 in interest revenue when received in 2013.

Interperiod equity: Report the interest when earned, in 2012.

5.
Budgetary compliance: Report the expenditure for the building as the building is paid for, $400,000 per year for 25 years.


Interperiod equity: Report the cost of the building as it is used, irrespective of when it is paid for; in this case $400,000 per year for 25 years.

6.
Budgetary compliance: Report the expenditure for the building when it is paid for, $10 million in 2037

Interperiod equity: As previously stated, report the cost of the building as it is used, irrespective of when it is paid for, in this case $400,000 per year for 25 years.

7.
Budgetary compliance: Report the entire $120,000 in license fee revenue in 2012, as cash is received.


Interperiod equity: Report the license fee revenue over the period covered by the license and in which the related inspections will be carried out — thus $60,000 for the half-year of 2012 and $60,000 for 2013.

8.
Budgetary compliance: Recognize the $300,000 borrowed as a revenue when received in 2012 and then as an expenditure when repaid in 2013. Note that, in this example, the increase in cash may be considered “other sources of funds” rather than as revenue. The impact on fund balance is the same, however.


Interperiod equity: This transaction would result in an increase in cash and an offsetting increase in a payable. No recognition would be given as a revenue or an expenditure to either the receipt of the amount borrowed or its subsequent repayment.
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1.
a.
The reported pension expenditure should be based on the actuarially required contribution, not on the actual cash contribution.

b.
The contribution to the rainy-day reserve should be accounted for as an internal designation of resources. The accounting should make clear that total assets of the government are not affected by the arbitrary, non-binding management decision to set aside cash for a particular purpose. Thus, the transfer should affect only asset accounts, not revenues or expenditures.

c.
The securities should be accounted for at market value. In that way the gain would not be recognized entirely in the year of sale — a year in which an increase in market price did not necessarily take place — and management could not pick the year in which to enhance its revenues.

d.
The city could automatically report an annual maintenance expenditure equal to some predetermined amount (perhaps an average of expenditures over the previous five years). The charge would be offset by a liability (e.g., “deferred maintenance”), which would be reduced only by actual maintenance outlays.

2.
A fundamental objective of financial reporting is to report on budgetary compliance. To the extent that the financial reports are on an accrual basis whereas the budget is on a cash basis, they would not achieve this objective. Moreover, the reported expenditures, for both maintenance and (though to a lesser extent) pensions could be considered arbitrary — that is, not based on specific transactions.

1-6

1.
a.
Inasmuch as the city budgets on a cash basis, delaying the payment of bills by one week would reduce the budget deficit. It would have no impact on the accrual-based financial statements and only a very minor direct impact on the city's substantive economic well-being (i.e., the city would have the use of the required cash for an additional few days).

b.
Speeding-up the recognition of property taxes would also reduce the budget deficit but would have no impact on the financial statements. It would have no direct impact on the city's substantive economic well-being as it would not affect the timing of actual cash collections.

c.
Delaying the recognition of expenditures would also reduce the budget deficit, have no impact on the financial statements, and have no impact on the city's substantive economic well-being. Like speeding-up the recognition of property taxes, it would not affect the timing of actual cash collections.

d.
Deferring maintenance would reduce the budget deficit and reduce the expenditures reported in the accrual-based financial statements. Assuming that the initially planned maintenance expenditures were necessary (and that the city's maintenance schedule was optimal), the change would have a negative effect on the city's substantive well being. It would likely result in increased expenditures in the future. 

These proposals each may substantively affect the city's financial well-being indirectly in that they would enable the city to legally balance its budget and thereby avoid the adverse consequences of a deficit. Of course, sophisticated analysts might recognize the city's measures as gimmicks and "one-shots" that would create fiscal pressures in the future. They might thereby downgrade the city's credit rating or take other actions that would have a negative impact on the city's fiscal well-being.

2.
Accounting principles do not directly affect an entity's economic well-being. However, if they change the data presented in budgets or other financial reports that are relied upon to make legal determinations, credit assessments, or other decisions, their indirect impact can be profound. As a consequence of those decisions the city can be denied loans or grants or alter the allocation of its resources.
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